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QUESTION 1

A system administrator is creating a new WebSphere cell consisting of three dedicated machines: ?web server
?deployment manager ?application server node To provide process level failover, the administrator should create a
cluster with:

A. no scaling

B. vertical scaling

C. horizontal scaling

D. horizontal and vertical scaling

Correct Answer: B

QUESTION 2
Consider the Exhibit,

= Details

Size 1.1 GB Classes 16.5k Objects 12.5m Class Loader 601

= Biggest Objects by Retalned Size

443 7 M8

1222 MB

4318 JmB

85 7 HB

Total: 1.1 GB

java.util.Vector & 0x70000000e3Schd0
Shallow S1ze 48 B Retaned Size 443.7 MB

a report generated by the IBM Support Assistant (ISA) that reveals a prevailing problem within a WebSphere Application
Server environment. What should the administrator do?

A. Increase the amount of physical memory for the server.

B. Ensure that all connections taken from the data source are returned to the pool.

C. Determine why the collection class increases in size and consumes memory.

D. Modify the application so it uses stateless instead of stateful session beans to conserve the heap.

Correct Answer: C
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QUESTION 3

A system administrator needs to automate management of applications deployed onto IBM WebSphere Application
Server Network Deployment V8.0 using scripting. Which administrative objects should the system administrator use?

A. AdminApp

B. AdminApplication
C. AdminTask

D. AdminConfig

E. AdminControl

Correct Answer: AC

QUESTION 4

A system administrator needs to enable security auditing.

What additional configuration steps are required before auditing becomes effective?

A. Configure the types of events that are recorded.

B. Configure the types of events that are recorded, and configure failure notifications.

C. Create a set of users or groups mapped to the Admin Security Manager role.

D. Create a set of users or groups mapped to the Auditor role, and define the notification mechanism.

Correct Answer: D

QUESTION 5

A Java EE application is deployed to a horizontal cluster and makes use of HTTP session objects. The administrator is
required to ensure failover of these session objects, and chooses to implement memory-to-memory replication. To
maximize chances of successful failover, how should the administrator configure the replication?

A. Select Entire domain for the number of replicas.

B. Select Single replica and select the default tuning parameter.

C. Select Single replica and select "Very high" for the tuning parameter.
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D. Specify at least 3 replicas and select "Very high" for the tuning parameter.

Correct Answer: A
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